Likelihood Practical

Likelihood

Revise paper

Theory Model

Expected stats
Means, Var-Cov, etc
Parameters

For ACE model: a, c, e etc



Likelihood Practical - idea

X_twl X_tw2 Likelihood -
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X_twin

(1) M = [mean(X_tw1l) mean(X_tw2)]

(2) 5 =| var(X_tw1l)
cov(X_twil, X _tw?2) var(X_tWZ)}

Overall Likelihood: 250.230
Overall -2LogL: -11.045

| = inv( sqrt( det(Z*T[* ) ) ) * a (-0.5 * (X-M) * inv(5) * t(X-M) )



Likelihood Practical - results

Change to R

Copy
F:\manuel\likelihood\likelihood.R

Into a folder in your H drive



Likelihood Practical - results

1 -0.5 -0.5
2 0.5 -0.5 -0.25
3 0.5 -0.5 0

4 0.5 -0.5 0.25
5 0.5 -0.5 0.5
6 0.5 0.5 -0.5
7 0.5 0.5 -0.25
8 0.5 0.5 0

9 0.5 0.5 0.25

10 0.5 0.5 0.5



Likelihood Practical - results

Tuvin-pair Likelihood
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